MATH 4340

_ (e 2~
1. () Mpst = Mn = <§h+§ - (%‘\%«s)\ - (Sjwafz)

e

e k. v
=(Snt Xna) = =1 =S +1

- '
=2Sn Kawt + KXo 7

; = & Y
=Tl aSixo. + Xne = | (Mo
F L 4on Kngy T A . « g
o [ ¥ 2N
~ 5/ A Ay -3
= QS5 1 Aner) Mt
ot @ e § e |
- O
k""g{j a 8 il s{ﬁ‘a ‘%‘a e F . {’&X - /er—:"?k‘? '-’;’ o Q
2 AU B (Y il e
=% 2 % i;: i1
sl ARVE. - S 1 7k Fm,!w“’f e
E’}; N I b Latl = (VN T

HN 9 Solubhon



P

e

i

M
i i

L

R —

=0 by fRrrene@

'S‘«
J

(nee Sf (T 2%,




o

O +
(

L
sy

ormn

s
K

i
ig

o E ( T \ ST = 5‘\;)

wtt
S

XN -

s

fradiony

ek
e



Hence

iz ™, T Ty 5 g" . ¢
= (e ™ Sing-X) U

.

. - [P ) H . Tt s o
conply £ wf’{:ij%’v AR B Sy o }i

2.
e e e 2NK =X
ELT [ 57 =) = ——

-
HS = e (TS y
2HS = B (57 =6)£(T| Sr=0)+
, g3
p== &i:ﬁ{ s Q‘M()(w")(w %
TR T

= NK -

= E(T)




